FAMCO

WE NIV

Thanks to browse ....... Welcome to FORWARD

FORWARD Machinery Co., Ld.

Pneumatic Component
Hydraulic Component

3 YongHe Road,Industry Zone XiKou,FengHua,Zheliang,China 315502

Telephone +86 574 8856 6988
+86 574 8884 8789
Fax +86 574 8856 6899
E-mail sales@forwardmachinery.com

TiK ZFRENMARA A
SHTH
ETTH

hE T FH ZOETVEXKFE3S 315502

Mg +86 574 8856 6988
+86 574 8884 8789
(=1 +86 574 8856 6899

E-mail sales@forwardmachinery.com



FAMCO
Caiuopuld

Product Content 7~z H 7

FORWARD

Company infroductions 2 &] & 71

C instructi NEINA 2 -
empany insfructions v RIIT=R In FORWARD,Driving force has always been
our vision and prospect: We own the courage
Airpreparation S JEAMIEIEE to challenge mediocrity to create surprising
8lFJR g products.Depend on our great perseverance
OR 11 ,we promote the development of Chinese
8{ }g fluid industry.
ORB 23
Accessories 27 Welcome to FORWARD!
Solenoid valve FZ#l JTT44
FVSC 29
4v 37
4M 45
S i #FORWARD, % {£0% 51/~ E 25114
AT 51 B BNEEkSTENES, UKoEs
ﬁu\\; g; ANFEERN M. FENZMm. B REARN
GR 59 KAFF BB, B s E AT L8
AR,
Cylinder #1147 JT1F
ODNC/IS06431 61
suU 67 FORWARD i3 |
DSNU/1S06432 71
MAL 75
SDA 83
Fittings £k 91
Boosting cylinder 18 [E&T
HPN,HPNS 99
Booster pump BER
FHBA 105
FHBD 107
Hydraulic cylinder FHEL
MOB,HOB 111

www.famcocorp.com

@Tel:ol'l-l‘ Aoooo 19 (25 uograzo 6512) (g ,Suid 81)S)ju Pl ioglsS « s
@ E'mail: |nf0@fa mCOCOFP.COITI P Pneumatic Componenf 1-2 Company introductions
©) Fax:or1 - FEIIESFP P SW by cads 088uUL (5g5u9)

@famco_group



FHMC(D S I Standard cylinder ISO6431 / ODNC

FORWARD ¥5i#ES I Standard cylinder 1ISO6431 / ODNC FORWARD
I:l.ﬂ..l.IDJ_l_ll.ﬁ K5 Type codes FARSHL Technical data

?l.

EH A Ih#E Basic function

IR OREMNRE, FURRTREIHTNERN,
SEVER LT WHAERAMIR, CERNFE TR,
HLE RO T ERRETRER, THRRIE,

Attached with adjustable buffer at both ends,and mounted stroke
switch for detecting the conversion position.

Piston rod with/without magenetic ring,sensor-position is optional
if necessary or unnecessary.

Stroke switch could mount on the cylinder,parrel directly,no need
mounting bracket.

[oDNC]-[32]-[100]-[PPV] - [A]-

ODNC I FRAESEL Standard Cylinder 1IS06431

£I1Z Bore

|

{T%2 Stroke

P AE—im BGRB8 Flexible cushioning
rings/pads at both ends
PPV Wik 25 o1 F4E%2% Pneumatic cushioning,

adjustable at both ends

{3 B %ill Position sensing

FRHEALE BN Without position sensing

A HRIE RGN Via proximity sensor

k&3B! Variants

www.famcocorp.com
@ E-mail: info@famcocorp.com
@famco_group

@Tﬁ:l:el‘!-}'= Aoooo 9

©) Fax:orl - FEIIESFP

FEH RS H General technical data

#I12 Bore (mm) @ 32 | 40 | 50 | 63 | 80 | 100
THNR ZISTENES

Medium Filtered Air

HIERR W)

Action Form Double Action

i E SR & S 15 bar

Compression Pressure

& LIEES 10 bar

Max. Working Pressure

SETEES 1 bar

Min. Working Pressure

Zp SEM (FE)

Buffer Air Buffer (Standard)

HERE 5-60° C

Condition Temperature

IR 50-500mm/s

Operation Speed

B ISR S

Lubricate Not Necessary +1.0

EERT 1/8” 1/4” 3/8” 1/2”
Connection

TRERTIE 25 4050 80 100 125 160 200 250 320 400 500

Standard Stroke

ZiTiE 20 22 32
Buffer Stroke

(255 Uogsao 6312) (5,54l olyS)ju Pl FioglS « (ylygs

Pneumatic component

¥ tSU;l ILJ.I-IJL'I Cuas QSJ:.I'..!L";I 59—~9)

79-80

Standard cylinder




FHMC(D iI Standard cylinder 1ISO6431 / ODNC ¥5:iES &L Standard cylinder 1ISO6431 / ODNC

i) pledy chnical data BARBH Technical data
.....
E7k R ~+E Basic version S2 MW iHiEZEAF Through piston rod
E9++
E1 E3+ E3+
E4 E7 ‘
=3 NI i L3 E2
E6_|_ Wi L1
swi | | - @ .
L1 | | s
[ T—1 OO e ”
e |0 LAY ~ :
o o 5[ RS T\/ - &I g o @\
= ‘ O © J : \ >~/ :
— 4 - =
Ve )
@} i : @/ %142 Bore(mm) @ E3 E9
LU« E8 32 120 146
AT TRFXAE SW2 F4 40 135 165
50 143 180
HI1% Bore(mm) @ E1 [E2 |E3+ |E4 |E5 E6 E7 E8 |F1 @|F2 F3 @ F4 L1 |L2 L3 L4 L5 KK WL [SWI | SW2 63 158 195
32 22 |45 120 | 26 18 [10 |63 25 |30 G1/8 12 M6 | 32.5(3 4 6 5 M10*1.25 [ 16 |10 6 80 174 220
40 24 |54 [135 )30 |22 |11 |77 |30 |35 |eia|16 |Me |38 |4 |a |8 |6 [mizx125 |16 |14 |6 100 189 240
50 32 |64 143 137 |28 12 |78 30 |40 G1/4 120 M8 | 46.5 (5 4 10 |9 M16*1.5 17 |17 8
) % 175 1158 137 120 115 187 1% 145 loas |0 1@ 16517 14 l125110 |mieis 117 117 |8 K2 j& 24T _E i< SMRLL Extended male piston rod thread K3 j&ZE4F £ M14240 Female piston rod thread
80 40 |93 174 (46 |35 16 |9 36 |45 G3/8 |25 M10 | 72 11 |4 12.5(8 M20*1.5 17 |22 6 4‘
100 40 1110|189 [51 |38 19 100 |40 |55 G1/2 |25 M10 | 89 12 |4 12 |10 M20*1.5 17 |22 6 |
|
| | — |
IS—— i —
I
w
Al El | > !
AF 4‘
E4
3 4 5 6 7 8 9 10 11 12 15 16
K5 & ZEAT_E45FRIZ4L Special piston rod thread K8 fnii&ZEHF Extended piston rod
I AN
xJ
S| — = \
- ~ €1/]7 < - J= ~ |
@ ) iR | TEIRE |
- |
N —— - — - —F - —— - '
N7 A2
E4+A2
FS NO. | &R Item S NO. | &R Item FS NO. | &R Item 12 Bore(mm) @ Al A2 El E4 KK AF KF
O O
1 #244 Rod nut 8 8% Barrel 15 J&3& Back cover Max. Max. FERIZLL Basic thread | 4FZRIZLL Special thread
2 JEZEAF Piston rod 9 JHZE Pilot body 16 EEREIRAE Connecting bolt 32 35 500 22 26 M10 x 1.25 M10 12 M6
3 B2 Rod packing 10 JHZEATOEE Rod 0-ring 40 35 500 24 30 M12 x 1.25 M12 12 M8
4 JAEIFTE Bushing 11 THEZEE Piston seal 50 70 500 32 37 M16 x 1.5 M16 16 M10
5 B1%= Front cover 12 fiksk Magnet 63 70 500 32 37 M16 x 1.5 M16 16 M10
6 228 Cushion 13 fif EEZR Wearing 80 70 500 40 46 M20 x 1.5 M20 20 M12
7 820 0-ring 14 RN AR Screw 100 70 500 40 51 M20 x 1.5 M20 20 M12
Eh)www.famcocorp.com ~
(D Teliobl-E A cooo 9 (255 Usgraio 0312) ()88 01)S) s Pl sioghsS « ylygs
) E-mail: info@famcocorp.com = 81:82_ Stondord cylinder
(C) Fax:oPl - FEA9ESEP 1P SU ¢ uyly il 08U (59529,

) @famco_group



¥5:f S &L Standard cylinder 1ISO6431 / ODNC

4 Accessories

S
\ S T

2 0Q %2

¥5:f S &L Standard cylinder 1ISO6431 / ODNC

Bt Accessories

AT

ACHITFE

AAHTTFE

AE

AF

[ 4-0AP

d}» G} #I12 Bore(mm) @ S T DC DJ DE DQ S Type
32 45 32,5 22 10 10 26 CA-32
40 52 38 25 11 12 28 CA-40
50 65 46.5 27 13 12 32 CA-50
Bore(mm) @ AA AC AD AE AF AG AJ AP Type 63 76 56.5 32 16 16 40 CA-63
32 158 142 8 48 32 24 32 7 LB-32 80 94 72 36 16 16 50 CA-80
40 179 161 9 53 36 28 36 9 LB—40 100 112 89 41 20 20 60 CA-100
50 190 170 10 63 45 3?2 45 9 LB-50 125 140 110 50 25 25 70 CA-125
63 209 185 12 73 50 32 50 9 LB-63
80 248 210 19 98 63 41 63 12 LB-80
as
100 258 220 19 115 75 41 71 14 LB-100 ar
125 290 250 20 140 90 45 90 16 LB-125 a
CP£0.1
L
I
@ ||| O 1
g ‘ Iy PA1
i PBL
© | ) = I s T s O
o _ o |
] © | 9 i
8ol - - - T-12 \
D ¥ ]
& ©1 ol
A ! 4-2BP RN
Y ‘ EB: gg {I4% Bore(mm) @ S T CT cP cc (o] CE PA1 PB1 S Type
BD
- e 32 45 32.5 45 2% 22 10 10 53 16.5 (B-32
40 52 38 52 28 25 11 12 60 535 CB-40
50 65 46.5 60 32 27 13 12 68 61.5 CB-50
) 63 76 56.5 70 40 32 16 16 78 71.5 (B-63
#1412 Bore(mm) @ BA BB BC BD BE BF BH AJ AK BP T S Type
80 94 72 90 50 36 46 16 100 91.5 CB-80
32 30.3 10 45 32 80 64 6.5 10.5 6.5 7 325 FA/FB-32
100 112 89 110 60 41 20 20 120 111.5 CB-100
40 35.3 10 52 36 90 72 6.5 10.5 6.5 9 38 FA/FB-40
125 114 110 120 70 50 25 25 130 1215 (B-125
50 40.3 12 65 45 110 90 8.5 135 8.5 9 46.5 FA/FB-50
63 45.3 12 76 50 120 100 8.5 135 8.5 9 56.5 FA/FB-63
80 45.3 16 94 63 150 126 10.5 16.5 10.5 12 72 FA/FB-80
100 55.3 16 112 75 175 150 10.5 16.5 10.5 14 89 FAFB-100
125 60.3 20 140 %0 224 180 15 19 12.5 16 110 FAFB-125

'.www.famcocorp.com

(P Teliot1-F Aoooo ko (205 Uograo 0312) (5 Sl o1jS)ju Pl sioghS « (ylygs

@l E-mail: info@famcocorp.com

83-84 Standard cylinder

() Fax:oP) - FEIIESEP ¥ Sy cguyly Suds oSyl S99

) @famco_group




FHMC(D 5§l Standard cylinder / SU

Csiuoy—ols

4 Type codes

& A& Th§E Basic function

FORWARD

-[100]- s | - [20]

SuU #RESEL Standard Cylinder
SUD Wi E 5% Double rod type
SuJ WS F{7H2 A Adjustable stroke type

1772 Stroke

i & /%illl Position sensing

RHALE BN Without magnet
I HALE B With magnet

iF#47%2 Adjustable stroke

1

w

EZE& 5 Mounting type

LB 142 Foot base

FA/FB BiI/fE3%= Front / Rear flange
CA B EHI Single earring

CcB ME K Double earring

www.famcocorp.com

O

mail: info@famcocorp.com

@famco_group

@Tel:ol‘l-F Aoooo 9

) Fax:oPl - FEIqESEP

¥5: S 5L Standard cylinder / SU

HARSH Technical data

FEH KRS General technical data

FORWARD

%142 Bore (mm) @ 32 | 40 | 50 | 63 | 80 | 100
TN ZLRNES

Medium Filtered Air

;MERR f=to)Lil

Action Form Double acting type

ERENIER 1~9 bar

Pressure range

R E 15 bar

Proof pressure

HERE —5~70° C

Condition Temperature

ZpEIR L

Cushion type Variable cushion

FEREE 50-800mm/s

Operation Speed

R 1/8” 1/4” 3/8” 1/2”
Connection

(225 Upgsaio 6312) (5,54 6S)5, P 5ioglsS « (ylygs

Pneumatic component 85-86 Standard cylinder

¥ ISU.'I (LJHJL'D i QEJAU‘“UED B9~9)



RS EL Standard cylinder / SU ¥5 S 5L Standard cylinder / SU

RS Technical data FHARSE Technical data

E7 R ~+E Basic version SUD M ii&ZEHF Through piston rod

A+17#E (A+Stroke)
os B C+17#¢ (C+Stroke)

A1+17f¢ (A1+Stroke)
C+47#¢ (C+Stroke) B+17#¢ (B+Stroke)

B e R et

|
:
id
|
AN
Y |
|
"
D
RIPI_
|
il

2z Y ——— L
w N~ 1
4THIIE
20l
f11% Bore(mm) @ A B |C D E F |G H I J (K L M N 0 P Q R[S T |V W §11% Bore(mm) @ Al B ©
32 140 47 |93 28 | 32 | 15 (27.5) 22 | 17 | 6 |MIOX1.25(M6x1.0 (9.5 |13.7|1/8|35|75|7 |45 (33|12 10 32 187 47 93
40 1421 49 |93 32 | 34| 15 (275 24 | 17 | 7 |MI2x1.25({M6x1.0 (9.5 |13.5|1/4(¢6 829 |5 |37 (16|14 40 191 49 93
50 150| 57 |93 38 | 42| 15 (27.5) 32 | 23 | 8 |Ml6bx1.5 [M6x1.0 (9.5 |135|1/4(85 (829 |62 |47 |20 |17 50 207 57 93
63 153 57 |96 38 | 42| 15 (27.5) 32 | 23 | 8 |Ml6x1.5 [M8X1.25(9.5 |13.5|3/8 |7 8.2 85|75 |5 |20 |17 63 210 57 9
80 1821 75 | 107 | 47 | 54 | 21 |33 40 | 26 | 10 [M20x1.5 [M10x1.5(11.5/16.5|3/8 |10 [9.5| 14 |94 | 70 [ 25 | 22 80 257 75 107
100 188| 75 | 113| 47 | 54 | 21 |33 40 | 26 | 10 [M20x1.5 [M10x1.5(11.5{16.5|1/2| 11 |9.5| 14 |112| 84 | 25 | 22 100 263 75 113

SUJ X472 RIHEL Adjustable stroke type

A2+HTREX 2+ T TR (A2+Stroke x 2+Adjustable stroke)
B C+47R (C+Stroke) TR Z+ TR (Z+Ad jlistable stroke)

J
p—
ANES |
e @
= e 7 [
FSNO. | &7 ltem FS NO. | &% ltem FSNO. | &R ltem 4112 Bore(mm) @ A2 B C J 7
1 #2fF Rod nut 8 EZEAFOZLE Rod O-ring 15 ZZ M BHROZLE O-ring 32 182 47 93 6 21
2 & ZEHF Piston rod 9 $A% Barrel 16 2 i #8222 Cushion needle 40 185 49 93 7 21
3 B4 Rod packing 10 EEHEE Piston seal 17 J5 3 Back cover 50 1% 57 93 8 23
4 &%l Bushing 11 &ZE Pilot body 18 ZE#£12# Connecting bolt 63 199 57 9% 8 23
5 A2 Front cover 12 it BEZR Wearing 80 242 75 107 10 29
6 2 [ Cushion 13 A7 FE248 Screw 100 248 75 113 10 29
7 EHEEORUE O-ring 14 M54 B Locker sheet
WWW.famCOCDTP.C{)m fa
. - . » " - , -
(D Teliobl-F Ao oo 9 (225 Uograzo 0512) 5,54 01,5, 1 Pl sioglsS « ylyg5 m—
) E-mail: info@famcocorp.com - 8788  Stoncard cylincer
_ (C) Fax:oPl - FEI9ESEY 1P SUy ¢ by cads oSyl (§95-39;

@famco_group :



FHMC(D iR {R S EL MINI cylinder stainless steel / DSNU,IS06432

(1] ” :

b ¥ Technical data

H 7 R~+ & Basic version

ZJ+ BF
L2+
AM WF PL PL
o
KV BF EE
e
EwW VD VD
MM )
— | o
(A\ — E :H: = T
P r=r71 ) wx ] O | O | | ] — L
1) o, ¢ [ 0 < et e
N omwiy R &l o
S
=1 \_J
G G
m
KW L
XC+
#I#2 Bore(mm) @ AM B BE BF cD D D4 EE EW G KK KV
8 12 12| M12%1.25 12 4 15 9.3 M5 8 10 M4 19
10 11.3
12 16 16 | M16%1.5 17 6 20 133 12 M6 24
16 17.3
20 20 22 | M22%1.5 20 8 27 21.3 | G178 16 16 M8 32
25 22 22 26.5 M10*1.25
#L71% Bore(mm) @ KW L L2 MM PL TO VD WF XC Yl
8 6 6 46 4 6 18 2 16 64 62
10
12 8 9 50 6 23 22 75 72
16 56 82 78
20 11 12 68 8 8.2 31 24 95 92
25 69.5 10 28 104 97.2

Jwww.famcocorp.com

@} E-mail: info@famcocorp.com

) @famco_group

(D Teliobl-E Aoooo k9

©) Fax:oP) - FE93ESEP

A B E RS EL MINI cylinder stainless steel / DSNU,IS06432

HARSH Technical data

S2 MW iiEZEAF Through piston rod

ZM++

ZJ+

X r_ A
¥
Al AM

K3 i&ZEHF AE24L Female piston rod thread

WF

KF

Y

T4

AF

K8 fin<iEZE 4T Extended piston rod

K6 i&ZEFT 4555 SMRSL Shortened male piston rod thread

A3
AM

K5 $5%iE A2 4L Special piston rod thread

M
X 11 _
X
-/
A2
WF+A2
@ Al A2 A3 AM AF KF T4 WF M
EHRBL FEIRIRAL MQ MA MH

[mm] Basic thread Special thread
8 - - - - 59.6 61.5

15 50 12 M4 16 62 78.4
10 - - - - 59.1 61.8

4

12 - - - - 72 69.7 72 94

20 16 M6 22
16 - - - - 78 75.7 77.8 100

100
20 25 20 M4 M8 - 2 24 92 90.5 91.5 116
8 12

25 35 22 M6 M10%1.25 M10 2.6 28 97.5 96.5 97.2 125.5

(205 Uoguaio 0312) 58 oliS)j Pl ioglsS « ylyg7

¥ I.SU# su.l.lJL,’.l Cual QLS..A.I.I.J“_ULJ 59—~9)

91-92  MINI cylinder stainless steel



FAMCO .

S &I MINI cylinder aluminum barrel / MAL
hl.ﬂ.l.lﬂJ_l_lln { Technical data

e

E{RSEL MINI cylinder aluminum barrel / MAL

HARSH Technical data

...-.
CA: Pivot type
Asiif
ceiit > 1 2 3 9 10 11 12 13 14 15 16 17
) | 1'_' T 3} { I
] T I \ \
I T Il Il T Il | |
— Wl [ 3 ‘ ‘
R w——
g a] -
4 2 | 3 —
- — T ] 4 J = SR | 17 s I
> | NI
AL+iTfE
C+iTfE D1
v o . o
" no o e
= T T
i 1
M) /"\ Fe N0, | &% Item B2 N0. | &R Item B2 N0. | &R Item
4¥[ Wi TN _/ 1 26} Rod nut 7 EE0TURE 0-ring 13 8% Barrel
—/ —
> 2 JEZEFT Piston rod 8 [z B Bumper 14 g i Bumper
3 BIEEZEE Rod packing 9 TEETEE Piston seal 15 JE#4E3) Back washer
4 BIERE Front cover nut 10 JEZEATOEYE Rod 0-ring 16 ANFAEE Screw
5 EmihAK Bushing 11 J&3E Piston 17 Ja# Back cover
i 6 Hiz Front cover 12 ffif B3R Wearing
CHiTH
. o s
H L] G_/Zl X ‘ﬂ
= rrTw vrTw
Il I Il [
— I [ ] I
—/ E
>
£112 Bore(mm) @ A Al (A2 |B [C [D [DI|E G [H |I J K L MIP |1Q |R |R1|S (U v W [X AX | AY
20 131122 (110(40(70(21|12|28|12|16|20|12 |6 |M8x1.25 |M22x1.5|7 (8 |16]|19|10(12|29 |8 |6 |[1/8]33]29
25 135128 [114(44170 (211430 |14])16|22|17 |6 |M10x1.25|M22x1.5|7 (8 |16]|19 |12 (12|34 |10|8 |[1/8]33]29
32 141128 (11444170 27|14(30|14)16|22|17 |6 |M10x1.25|M24x2.0| 8 [10|16|25 |12 |15|39.5|12| 10| 1/8|37 |32
40 165|152 (138 (46 (92 [ 271432 | 14|22 | 24|17 |7 |M12x1.25|M30%x2.0| 9 [12]20 |25 [12|15|49.5| 16| 14| 1/4|47 |41

www.famcocorp.com

(D Teleri-F Acooe kq (255 Uegia0 6312) (55l 0S)ju P yioglhiS « oylygs

) E-mail: info@famcocorp.com

©) Fax:oP1 - FEIqESEP P SW by eds o8buUL (5959

@famco_group



FHMC(D EHR{IRSEL MINI cylinder aluminum barrel / MSAL

hl-ﬁ-l-laJ._l_llQ # Technical data

(RS & (RS E MINI cylinder aluminum barrel / MTAL

HARSH Technical data

CA: Pivot type CA: Pivot type
A+{TH A+TFEX 2
B C+iTHE D B+iTFL C+iTHE D
E F G G S AY E+iTfi G G S
H M 2 62 P 1 H o2 2% P
J ] i l " J ‘w [ I i
] ‘ v [ w"fﬂ \
— I T V‘J i — [y 5 I
/ T . —/ T T
W > w
CM: Round-end type CM: Round-end type
AL+THE
B CH+iTH D1 AL+{7FEX 2
A € B s s R’ B+iif CHiife D1
1 W M 2 o2 Exif s G R1
] | ] ! C 1] H 62 |2x
1 \ T o - [amnn) =
\ “TU 1 ‘
[} [ HT"
\ — /‘\ — i /\
5 J S5 SRR EXF )
W > W
U: Flat-end type U: Flat-end type
A2+iTfE A2+ X2
B C+i7#i +17Fi +i7 8
AY E N F G G E*HhE G : G
1 H M ZL G2 H G2 | 2%
) (T ‘ = s - T -
(. ‘ =T [ T 1 ‘
\ “T” \\Tn
\ — [ — [
) RIRES =g N S izt == E} SRR
/ —/
W > W
A Al A2 € A AL A2 c
4742 Bore(mm) @ 0~50 |51~100{0~50 |51~100|0~50 [51~100]B 0~50 |51~100| D D1 £ F G H 472 Bore(nm) @ 0~25 | 26~50|51~75|76~100 | 0~25 |26~50 |51~75|76~100 | 0~25 | 26~50|51~75| 76~100{ B | 0~25 | 26~50|51~75|76~100
20 131 (156 |12z |17 110 |13s |40 |70 s 21 12 |28 |12 |16 | 20 156 156 [171 |1e1 [137 |147 |162 [172 |125 |135 [150 |160 |40 |es |95 [110 |120
2 135|160 |12 |53 |11 |13 |as |0 | 21 VS IR BV BT ) 25 150 {160 [175 |185 |143 |153 |18 |178  |129 |139 |154 |164 |44 |es |95 [110 |120
32 11 |1 |12e |iss |11 |1z |as |00 e 27 e 2 156 |166 |185 |196 |143 |153 [173 [183 |129 |139 |150 [169 |44 |es |05 (115 |15
20 165 |10 |15 |177 | 138 |16z |46 | 17 | 27 14 |32 |14 |2 | 20 180 |190 |210 |220 | 167 |177 |197 |207 | 153 |163 |183 |193 |46 | 107 |117 |137 |147
12
LU el 2 I g |[K L ¢ | | | L 1 I H72 Bore(nm) @ o |oi|e [F e |0 [1 |0 [« L wole fo R O {RU[s Ju v [w |« [ax |ar
2 12 |6 |Mexi.zs MHezx1s 8 L R R R o A R R 20 21 |12 |28 |12 |16 |20 [12 |6 |mMex125 | meex15 |7 |8 |16 |19 |10 |12 [20 |8 |6 |18 ]33 |29
» 1716 | MI0XT.25 | Hezxds 8 A A A R 8@ 25 21 |14 30 |14 |16 |22 |17 |6 |mMiox1.25 |meex15 |7 |8 |16 |19 |12 |12 |38 |10 |8 |18 |33 |29
b 1716 | MI0x .25 ] M2h>2.0 B I L R R e IR R IC I U 2 2 27 |14 |30 {14 |16 |22 [17 | 6 |mMiox1.25 |meax20 |8 |10 |16 |25 |12 |15 [205]12 |10 |18 |37 |32
40 177 | M2x1.25 | 3020 N N R e S L R A A 40 27 |16 [32 |14 |22 |22 [17 |7 [ miex125 |m30x20 |0 |12 |20 |25 |12 |15 |495] 16 | 14 |1/4 |47 |41

www.famcocorp.com

(D Telobl-F Aoooo i a (2)S Uoguaio 6312) ()8 01,8, P yiogLS « gy

ﬂ:ik E-mail: info@famcocorp.com

) Fax:orl - FEAqESEY P S by it o88uUL s95v9)

=) @famco_group



	FORWARD Catalogue 2011
	Product Content
	Pneumatic Component
	Cylinder
	ODNC/ISO15552 Standard cylinder
	SU Standard cylinder
	DSNU/ISO6432 MINI cylinder stainless steel
	MAL MINI cylinder aluminum barrel
	SDA Compact cylinder






